SBI3C – Genetics - Mendel’s Laws / Crosses / Punnett Squares

Gregor Mendel was an _______________________ who used garden _________________ to explain the inheritance of _______________

Examined ___________ different ________ traits.  Each trait had only _____ possible variations (__________________)
Was the first individual to propose the principal of _______________ the law of _________________, and the law of ________________________________.

Principle of _______________

· When individuals with different ______________ reproduce, the offspring will only express the ______________________________.

Law of __________________

· ______________________ pairs split up during ___________ with one member of each pair going into ________________ gametes.

Law of ________________________

· the inheritance of traits are __________________ of each other.

Crosses

____________________  Cross

involves _________ trait.

________________ Cross

involves the cross of an individual with a __________________ recessive individual (___) in order to determine the ________________ of the _________ individual.

Generation Terms

· P1  =   ______________________

· F1 = _________________________ (children)

· F2 = ____________________________ (grandchildren)

Punnett Squares

A punnett square is a __________ used by __________________ to determine the probability of results when two _____________________ are crossed.

In _________________ crosses a 2 x 2 ____________ square is used

The possible ____________ produced by the ______________ are written at the ____ and _________ the side

The _____________ are combined to ______________ all of the possible ____ genotypes

Ex. Find the genotypes and phenotypes of the F1 and F2 generations when a homozygous tall (T) pea plant is crossed with a  homozygous short (t) plant.

In the case of a cross that involves ___________ that are ___________________ for a particular trait:

· F1 will always have

· ________________ that are _________________.

· _________________ that resemble the _______________ trait.

· F2 will always have a

· Genotypic ratio of 1:2:1

· 1 __________________ dominant

· 2 ___________________ 

· 1 ____________________ recessive

· Phenotypic ratio of 3:1

· 3 _________________

· 1 _________________

Test Cross

Involves an unknown parent and a _____________ parent (_______________________)

Case #1- assume unknown parent to be BB
· If all F1 show the _____________________ trait, then the unknown parent was ___________

Case #2 – assume unknown parent to be Bb
· If even one F1 shows the _______________ trait, then the unknown parent was ____________

